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0. [bookmark: _Toc31741]Correction to function f_TC_7_1_1_5_1_NR_TestBody
	Function name
	f_TC_7_1_1_5_1_NR_TestBody

	Reason for change
	1. 1 byte padding equals to  '??'O not  '?'O, the current TTCN is wrong.

	Summary of change
	1. Modify  '?'O to '??'O.

	TTCN module
	DRX_MAC_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change:
	  function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
                                   float p_WatchDog := 5.0) runs on NR_BASE_PTC
 {
   ……    
    
    //@siclog "Step 19" siclog@
    // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
    v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
    v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);

    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID_SCG_Bearer, v_EncodedRlcPdu1) };//@sic R5s211665 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));

   
    t_Watchdog.start;
    
    //@siclog "Step 18" siclog@
    // Check: Does the UE transmit a Buffer Status Report on the UL indicating an empty buffer?
    // Get the time when UE sent BSR
    // Note the function not suitable for finding the UL Data timing with respect to Grant, but still result in same value
    //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2);
    v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader, cr_LongBSR_Payload('00000000'B, {})) };
    v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(omit, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU('?'O)) };   // 1byte Padding header and 1 byte padding payload
    DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
   
    //@siclog "Step 20" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");
    t_Watchdog.stop;
  }



After Change:
	   function f_TC_7_1_1_5_1_NR_TestBody(DRB_Identity p_NR_DRB_Id,
									 float p_WatchDog := 5.0) runs on NR_BASE_PTC
   {
	 ……	  
	  
    //@siclog "Step 19" siclog@
	  // (tsc_NR_SlotOffsetK2 = )4 slots + (drx-HARQ-RTT-TimerUL ) 4 slots + (drx-RetransmissionTimerUL ) 12 slots =20 slots, a multiple of 5 slots
	  //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, 20);
	  v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2 + tsc_DRX_HARQ_RTT_TimerUL + tsc_DRXRetransTimer_UL ); //@sic R5s200711 R5s200833 sic@
	  v_Timing2 := f_NR_LastDL_Slot(nr_Cell1,v_Timing2);
  
	  v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(5, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(5, crs_NR_PDCP_SDU_36B)));
	  v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID_SCG_Bearer, v_EncodedRlcPdu1) };//@sic R5s211665 sic@
	  v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
	  DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing2), v_MAC_PDUListDL));
  
	 
	  t_Watchdog.start;
	  
    //@siclog "Step 18" siclog@
	  // Check: Does the UE transmit a Buffer Status Report on the UL indicating an empty buffer?
	  // Get the time when UE sent BSR
	  // Note the function not suitable for finding the UL Data timing with respect to Grant, but still result in same value
	  //v_Timing2 := f_NR_SubFrameTiming_AddSlots(v_Timing1, tsc_NR_SlotOffsetK2);
	  v_CE_SubPDUListUL := { cr_NR_MAC_CE_SubPDU_UL(cr_NR_MAC_LongBSR_SubHeader, cr_LongBSR_Payload('00000000'B, {})) };
	  v_MAC_PDUListUL := { cr_NR_UL_MAC_PDU(omit, v_CE_SubPDUListUL, cr_NR_MAC_Padding_SubPDU('??'O)) };   // 1byte Padding header and 1 byte padding payload
	  DRB.receive(car_NR_DRB_COMMON_IND_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListUL));
	 
    //@siclog "Step 20" siclog@
	  SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
	  f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");
	  t_Watchdog.stop;
	}



